3¢ ttW 3 ttZ 40 ttZ
Process 1 jet >2 jets 3 jets >4 jets >1ljet+Z | =1 jet+Z-veto
Nonprompt 446153 | 548+ 6.4 82+28 54+21 — —
Nonprompt WZ/Z — — — — <0.1 <0.1
Nonprompt tt — — — — <0.1 0.2+0.2
WZ 3.2+0.8 80£17 | 11.7£29 54+1.6 — —
7 1.0£0.2 1.5+£0.3 1.6 £0.4 0903 | 3.3x£05 1.8+£0.3
Multiboson 0.1£0.1 04+0.2 0.5+0.2 0.5+0.2 <0.1 0.3+0.1
tbZ/tt+X 04=+0.1 38x1.1 1.6 £0.6 0.7£0.3 <0.1 <0.1
ttH 0.2x+0.1 47+04 0.3x0.1 04=+0.1 <0.1 0.2+0.1
Background 495+54 | 73.1+£6.7 | 239+41 | 13.3+27 | 3.3£05 24404
ttW 25+0.8 | 18.8+4.7 0.5+0.1 0.2£0.1 — —
ttZ 0.3=0.1 75x1.2 88+19 | 169x3.6 | 0.4+0.1 43+1.0
Expected 52354 | 994+£83 | 332+45 | 30445 | 3.7+£05 6.7 1.1
Data 51 97 32 30 3 6




